Násobení  10, 100, 1000 desetinných čísel	
JMÉNO:					Datum:
42,564 . 100 =
41245 . 10  =
74,45,8 . 1000 =
0,12345 . 100 =
12,457 . 10 =
0, 998 .1000 =
974,9 . 100 =
78956,04  . 1000=
6542,8444 . 10 =
100020,4 . 100  =
974,998 . 100 =
78956,04 . 1000=
6542,8444 . 10 =

32,5642 . 1000 =
4,145 . 10 =
174,458 . 1000 =
11234,5 . 100 =
22,457 . 100 =
0, 998 . 1000 =
1974,99 . 10 =
78156,044 . 100 =
6544,84 . 1000 =
120020,487 . 10 =
0,12345 . 100 =
4522,457 . 100 =
0, 9958 . 1000 =


4254,564 .  10  =
478,1245 . 100 =
74,458 . 10 =
50,12345 . 100 =
12,457 . 10 =
30, 998 . 100 =
97499,8 . 1000 =
78956,04 . 100 =
6542,8444 . 1000 =
10,0020487 . 1000 =
7956,04 . 1000 =
542,8444 .10 =
580020,487 . 100
3256,42 . 1000 =
514,5 . 100 =
174,458 . 100 =
112,345 . 10 =
22,457 . 10  =
99,8 . 100 =
1974,998 . 1000 =
781,56044 . 1000 =
6544,8444 . 100 =
120020,487 . 1000 =
45,22457 . 100  =
7869,8 . 1000 =
8564,998 . 10 =


[bookmark: _GoBack]Napiš pod sebe , vypočti a výsledek zapiš do tabulky
21,563 + 18,14 =						31,357 + 0,125 	=
52,39 + 68,2 + 2,0365 =					6,89 + 53,777 + 0,134 = 
46,563 + 18,82 =						51,342 + 0,181 	=
75,39 + 68,8 + 6,0384 =					9,68 + 53,837 + 0,754 = 
396,369 – 72,13 =				283,36 – 8,19 =			686 – 0,91 =
43,23 – 6,46 =				27,24 – 9 =				312 – 4,72 =
182,369 – 56,13 =				258,36 – 8,65 =			612 – 0,23 =
14,23 – 6,55 =				31,24 – 8 =				305 – 1,12 =



